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int main(void){
char a, b, hoge;
int i, j, fuga;
double x, y, foo;
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scsnf ("Jc",&hoge) ;
scanf ("%d",&fuga) ;
scanf ("%1f",&fo0);
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printf ("%c" ,hoge) ;
printf ("%d",fuga);
printf ("%f",foo);
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hoge="A";

e Ubobuoooobobbobbobobbobobobobbobobooboboooobaobgaa
0000000000000 0000DO00bD0000Do0OU0o0oOooOO (ASsCIHUooooooo
odooboaAdobObOOOOO0OO0OOoobbOoges000o0oooo

e JO0OOO0O0O0OO0OOOOOOUOOOOOLOOOODOUDODOOODOOOODLODODOOOODDOOOO

Ul gbdboogboboogooooobobbooboon

oo oooo oOooo oo
OO0 char 8 -12800 127
gbogd int 32 -21474836480 2147483647
OO0 double 64 00000 1073%00 1073 000 150
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¢ = 299792458
= 2.99792458 x 10°
= 2.99792458E+8
= 2.99792458e+8
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m. = 0.0000000000000000000000000000009109534
=9.109534 x 10731
= 9.109534F — 31
= 9.109534¢ — 31
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c=2.99792458e+8;
p=M_PI;
m=9.109534e-31;
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printf("c=%f\n",c); = c=299792458.000000
printf ("p=%f\n",p); = p=3.141593
printf ("m=%f\n",m); = m=0.000000
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printf ("c=%0.10f\n",c); = €c=299792458.0000000000
printf ("p=%0.10f\n",p); = p=3.1415926536
printf ("m=%0.10f\n",m) ; = m=0.0000000000
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printf("c=%53.40f\n",c); = c= 299792458.0000000000000000000000000000000000000000
printf ("p=%53.40f\n",p); = p= 3.1415926535897931159979634685441851615906
printf("m=Y%53.40f\n",m); = m= 0.0000000000000000000000000000009109534000
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printf("c=Y%e\n",c); = c=2.997925e+08
printf ("p=le\n",p); = p=3.141593e+00
printf ("m=Y%e\n",m); = m=9.109534e-31
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printf("c=%0.10e\n",c); = c=2.9979245800e+08
printf ("p=7%0.10e\n",p); = p=3.1415926536e+00
printf ("m=%0.10e\n" ,m) ; = m=9.1095340000e-31
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printf("c=Y%g\n",c); = €=2.99792e+08
printf ("p=lg\n",p); = p=3.14159
printf ("m=Y%g\n",m); = m=9.10953e-31
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int i, j=7, hoge=456;
double x, y=3.14, fuga=M_PI;
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const double ¢=2.99792458e+8;
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c=3.1415;
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scanf ("%1f",&c);
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[0D2 00000 m,
me = 9.109534 x 103! [kg]
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